BT R 2R BRE S BAME (RS 14E4 A ~ G fnosE6 A)

(HAZ: 1)
jmg XX Sy 3O Sk P
41 2 TE TERR BRI 7 RRE L (4/1) 10,000
4 | 8 HE TCHTHE R B IE AR HAR D =15 T HRAEAE(3/4) 9,720
41 8 e B B RETAT SETA RAR S MHE = R AR # 2 (7/9) 5,000
4 | 18 = BRI A= (4/20) 3,000
4 | 18 ESS ¢ JaRl 1L T By (AR 7 R ks 2 (4/20) 3,000
4 | 18 =t Jal LT ek B RS RS B e (4/22) 5,000
51 8 BHE Jeik B N 5 AR L (5/7) 10,000
5 | 10 T TR BRI RRAEAEM (4/1) 9,720
5] 10 HE kBT RS 2R A H RARAEAEA (4/16) 9,720
5 | 21 e kD B b7 =27 431 (5/19) 2,000
5 | 21 =1 By B WRRATA 2 RN S L O HLASHA S (5/20) 8,000
5 | 21 =% JEUHLIET e T a2 (5/21) 5,000
5 | 21 ey HeARRRET R =i 2 (5/22) 10,000
5 | 28 =% JRILTE LA TN T3 mE s (5/29) 5,000
5 | 28 ey Jal LI RT AR A AR 2 (5/30) 5,000
5 | 28 BT & L E R AR SEAR (6/1) 3,000
6 | 4 HE Jelk B N B AR AEAEIR (5/6) 9,720
6 | 20 = XK= (6/20) 5,000
6 | 20 =1 Ehfnaite (6/21) 5,000
6 | 26 e BULH = E Rt Bk (6/28) 5,000
6 | 26 B [ BSEFRAT R B4 (7/1) 3,000
6 | 26 2 JeUHTH B 3 BAHE (7/7-8) 10,000

140,880




